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Criteria for Success
	CP
	Honor

	· C: 1 correct answer for each lesson
· B: 2 correct answers for each lesson
· A: 3 correct answers for each lesson
	· C: 3 or some correct answers for each lesson
· B: 4 or many correct answers for each lesson
· A: 5 or all correct answers for each lesson


**”Take It Further” problems count as two problems**
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Sasha has a way to make the linear approximation technique easier. She
uses what she calls a regular approximation for a curve. She picks some
length, say } in., and marks it off around the curve until she gets too close
to the starting point to mark another segment. Then she just multiplies the
number of segments by § and adds on the last little gap.

13. Use Sasha’s regular approximation method to estimate the length of the
curve below.

I

2in.——+

14. Many people use Sashas regular approximation to estimate distance
on road maps.
a. Explain how this works.

b. Use aroad map and regular approximation to estimate the distance
between your hometown and a city many states away.




image4.png
15. Standardized Test Prep The circle has a square
circumscribed around it. It has another square
inscribed inside it. What s the ratio of the perimeter
of the circumscribed square to the perimeter
of the inscribed square?
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5. Find the area of each figure.

b.

Astop sign has sides that are 6 inches long and an apothem that is
7.2 inches.

In the figure, an equilateral triangle s inscribed in a circle of radius

2 cm. The center of the circle that circumscribes a triangle is the triangle’s
circumcenter. The circumcenter of an equilateral triangle divides cach

of the triangle’s medians into two segments. One is twice as long as the
other. This should give you enough information to find the side length of
the equilateral triangle using the shaded triangle in the figure.
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7.

Can you use the formula A = § Pa for irregular polygons? Explain.

Awheel of a toy car has an area of 5 cm? and a radius of about 1.26 cm.
There is a mark on the point of the wheel that touches the floor. You start
pushing the car forward and the marked point does not touch the floor any
‘more. What is the shortest distance you have to push the car for the mark to
touch the floor again?

. Standardized Test Prep Beth wants to find the area she can enclose with

264 mm of string. She makes a circle so that the ends of the string touch.
The circle has a radius of about 42 mm. What is its approximate area?

A. 1764 mm?® B. 3353 mm? C. 5544 mm?® D. 11,088 mm?*
‘Take It Further The Moriarity sisters have to move the shed in their
backyard. They jack up the shed and slip two pipes under it, each with a

circumference of 8 inches. The sisters get the pipes to roll three revolutions.
How far do the sisters move the shed?

Take It Further A regular polygon with 7 sides and side length sis inscribed

in a circle of radius 1. Show that a regular polygon with 2 sides inscribed in
 regular polygc

the same circle has sidelength \/2 — V1 = 52,




image1.png
11. a. Drawa blob.
« Estimate its area usinga mesh of % in.
« Estimate the same blob's area using a mesh of § in.

b. Now draw the blob again, scaled by a factor of 2. Estimate the new blob's
area three times. Use amesh of 4 in., 1 in, and 1in.

<. Which estimates from part (a) and part (b) are approximately the same?

Explain the following claim. You have a good estimate for a blob's arca
in terms of a number of squares on graph paper. That same number of
squares is a good estimate if the graph paper and the blob get stretched
bya factor of r.

12. Take It Further Tmagine that a blob and a grid of squares are drawn onto a
big rubber sheet. The area of these 228 squares gives a good estimate of the
blob's area.
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Imagine that the rubber sheet is stretched in just one direction. Now all of
the squares have one side length doubled and one unchanged.

. What shape do the squares become?
b. What s the area of the new shapes compared to the arca of the squares?
. What happens to the area of the blob?

d. Is the blob a scaled copy of the original? If your answer is yes, what is the
scale factor? If your answer s no, explain why not.




